

228.222.4626

228.222.4390

5000 Diamondhead Circle · Diamondhead, MS 39525-3260

www.diamondhead.ms.gov

0

0

December 11, 2025

City Council 5000 Diamondhead Circle Diamondhead, MS 39525

Dear City Council,

Please approve of the purchase of fence material from Lowe's as they provided the lowest quotes. The material will be used to build the city's dog park.

Fence Material

Lowe's

\$8,940.38

Home Depot

10,551.42

Your approval in this matter will be appreciated.

Sincerely,

Jon McCraw

LOWES PRO

12/11 Bid For Fence

Quote # 231601064

Greated on Dec 11, 2025

Quote valid until Jan 11, 2026, 11:59 p.m.*

Business Name City Of Diamondhead
Customer Contact Jon Mccraw
finance@diamondhead.ms.gov
(228) 222-4626
Lowe's Contact Richard D
Lowe's Store # 2350, Waveland, MS
Store Phone (228) 463-8788

ltem#	Item Description	Fulfillment	Unit Price	Qty	Item Total
552328	Severe Weather 4-in x 4-in x 8-ft #2 Southern yellow pine Ground contact Pressure Treate	TRUCK	\$9.25	140	\$1,295.00
2200361	Severe Weather 2-in x 6-in x 8-ft 2 Prime Southern yellow pine Ground contact Pressur	TRUCK	\$6.91	560	\$3,869.60
2200358	Severe Weather 2-in x 4-in x 8-ft 2 Prime Southern yellow pine Ground contact Pressur	PICKUP Waveland Lowe's	\$3.49	420	\$1.465.80
5116507	GARDEN CRAFT 100-ft x 4-ft Black PVC coated steel Welded Wire Rolled Fencing 2-in	PARCEL	\$94.52	12	\$1,134.24
222710	QUIKRETE 50 -lb High strength Concrete mix	PICKUP Waveland Lowe's	\$3.74	168	\$628.32
99898	QUIKRETE Pallet Pound(s)	PICKUP Waveland Lowe's	\$21.00	3	\$63.00
5055145	Nuvo Iron 4-in x 4-in Black Painted galvanized steel Deck Post Cap	PARCEL	\$1.65	140	\$231.00
69348	Grip-Rite 1-1/4-in Leg x 1/4-in 9 -Gauge Standard staples 5 -Per Box	PARCEL.	\$18.73	4	\$74.92
5333994	DeckForce by Grip Rite #10 x 3-in Wood to wood Deck Screws (1580 -Per Box)	PICKUP Waveland Lowe's	\$89.25	1	\$89.25
5333976	DeckForce by Grip Rite #10 x 2-1/2-in Wood to wood Deck Screws (1825 - Per Box)	PICKUP Waveland Lowe's	\$89.25	1	\$89.25

Item Subtotal \$11,437.00
Estimated Quote Savings -\$2,496.62
Delivery Fees & Taxes Calculated in Checkout

Estimated Total \$8,940.38

Delivery fees will be added at time of purchase where applicable.

^{*}The prices quoted are valid until 11:59 p.m. on the date shown above, subject to the following exclusions, conditions, and exceptions.

Prices listed on this quote will be honored at Lowe's Store # 2350, Waveland, MS. Please request a new online quote if you'd like to purchase the listed items at a different store, or contact the Pro Service Desk with any questions.

Any changes you make to this quote, for example, adding or removing one or more items or changing the quantity of any item or items, will create a new quote and cancel this quote.

Additional discounts, if applicable, are subject to Lowe's standard discount policy, and are calculated at checkout.

All products are available while supplies last and may vary by market. Lowe's reserves the right to correct any error and/or limit quantities sold.

Lowe's is offering to supply materials only. Lowe's is not offering engineering, architecture, or general contracting services or advice. Lowe's is not responsible for the selection or choice of materials for a general or specific use; for quantities or sizing of materials; for the use or installation of materials; or for compliance with any building code or standard of workmanship.

This quote is based on Lowe's standard commercial terms. Lowe's does not agree to terms and conditions (including, but not limited to, governmental regulations) not specifically indicated or referenced in the request for this quote. If terms and conditions are presented, product selection and pricing may change pending legal review.



Location 1680 ELIZABETH BLVD, BILOXI, MS 39532

Customer Information

JON MCGRAW

(228) 222-4626

JMCRAW@DIAMONDHEAD.MS.GOV

DAIMONDHEAD

5000 DIAMONDHEAD CIRCLE

DIAMONDHEAD, MS 39525



Quote # H2910-258282

PO / Job Name Dog park



Pickup Date
Thursday Dec

Thursday, December 18 1:45 PM CST

Item Description		Model #	SKU#	Unit Price	Qty	Subtotal
er-side er: ##	Everbilt	N/A	1007668409	\$5.98 / each	18	\$107.64
	1-1/4 in. x 9/16 in. Crown Hot Dipped Galvanized Fence Staples 1 lb. (83-Count)					
	DECKMATE	N/A	1003274868	\$114.00 / each \$91.20 / each	2	\$182.40
	#9 x 2-1/2 in. Tan Star Flat Head Wood Deck Screw (25 lbs. / 1823-Pieces)					
	● DISCOUNT \$22.80 OFF EACH					
	Quikrete	N/A	929514	\$4.98 / each \$4.73 / each	140	\$662.20
	60 lb. Concrete Mix			• •		
	DISCOUNT \$0.25 OFF EACH					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
gai.	Unbranded	N/A	1001753849	\$3.68 / each \$3.31 / each	420	\$1,390.20
	2 in. x 4 in. x 8 ft. #2 Ground Contact Pressure-Treated Southern Yellow Pine Lumber					
	DISCOUNT \$0.37 OFF EACH					
	WeatherShield	N/A	1001753877	\$7.68 / cach \$5.73 / each	560	\$3,208.80
	2 in. x 6 in. x 8 ft. No. 2 Prime Pressure-Treated Ground Contact Southern Pine Lumber			·		
	▶ DISCOUNT \$1.95 OFF EACH			a segment of comment		
	Unbranded	N/A	256276	\$10.28 / each \$8.42 / each	140	\$1,178.80
	4 in. x 4 in. x 8 ft. #2 Ground Contact Southern Yellow Pine Pressure-Treated Wood Timber					
	DISCOUNT \$1.86 OFF EACH					

🚑 Will Call

Estimated Arrival Dec 12 - Dec 19 Alternate Pickup Person JON MCGRAW

Sales Person PXF0835

Store Phone # (228) 354-8872

Store # 2910

Location 1680 ELIZABETH BLVD, BILOXI, MS 39532

	- Min					
item Descri	ption	Model #	SKU#	Unit Price	Qty	Subtotal
• ,	Simpson Strong-Tie	APDPC4	APDPC4 1005542501	\$3:28 / each		\$413.00
	Outdoor Accents Black Decorative Post Cap for 4x4 Nominal Post			\$2.95 / each		
	DISCOUNT \$0.33 OFF EACH					
	Get it by Dec 12 - Dec 16		e.			
and the second s	SPAX	3191020500750	1010720403	\$132.17 / each	2	\$264 .34
	#10 \times 3 in. Torx T-Star Plus Interior Flat Head Wood Screws Construction Framing (1500 Each) Bulk Pail Bit Included					
	Get it by Dec 15 - Dec 17					
	Garden Craft	704800	1009819887	\$215.24 / each \$204.48 / each	12	\$2,453.76
	48 in. H x 100 ft. L 2 in. x 4 in. Black Vinyl Coated Fence					
	● DISCOUNT \$10.76 OFF EACH ☐ Get it by Dec 16 - Dec 19					

Prices Valid Through: 12/18/2025 at The Home Depot #2910

Subtotal	\$11,624.86		
Discounts	-\$1,763.72		
Sales Tax	\$690.28		
Quote Total	\$10,551.42		